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2 34,490
< 958,090
= 3,581,061
2IIEE el ¢ X2 161,900 167,900 26,000
2EQ & #MA F& 19,200 20,700 21,500
SEY YA L AES FHHI 11,200 12,700 21,500
201 LEtRHH| 11,200 11,200 0
01 AF22t2|H] 11,200 11,200 0
1) et gH| 10,700
)80 & 3H &8 &4
500,000% 110 A 5,500
2)8EY =¥A 25 HEE2E 1Y
400,000% 1304 A 5,200
DEPEE 500
2)8=2 AL WEA|L A2 500,000& 500
B2IE AL 8,000 8,000 0
301 Lt AZ 8,000 8,000 0
01 AFSIE & X 0l 2 8,000 8,000 0
NEES & BEIIE 92 20,000& 4004 8,000
2INRLEX XA 142,700 147,200 A4,500
23CH X 21,000 21,000 0
201 LBt AHH| 4,000 4,000 0
01 At22te| bl 4,000 4,000 0
1) 2x2 4,000
2) EEHH AIRA 2AX2 4,000,000 4,000
307 2I12t01 A 17,000 17,000 0
10 A S XX 17,000 0 17,000
NEEHH ot8sd U A AlZ
2,000,000 «6IH CH Al 12,000
NHEY BRI X X 2,000,000 2,000
NEEHH dot2X3 S|
500, 000& *6IH =t Xl 3,000
HESSA N 121,700 126,200 A4,500
301 et AZ 121,700 126,200 A4,500
01 Al B & X 45612 121,700 126,200 24,500
DELES=, 20,0002 430 x 122 103,200
= 150,000%30H 4,500
1NZ2NSZ2X 22X oHF & 0|&H| X
2,000,000 «7H 14,000
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SN FOIMBTIH
ma: HoHE =X X
ol FOMEBAHIA KR ¥ HSHH = (er9: @@
HA .- M. CO (5 HEAY . N2 HEE Hl o =2t
HAHNE =X & 1,565,5% 1,548,276 17,318
= 573,461
T 82,375
= 909,758
OlMEMHIA X3 & MEHMA &EE 734,931 669, 384 65,547
= 415,307
& 62,606
= 257,018
K E A2 =S RIALS 15,000 13,000 2,000
307 @12+0l & 15,000 13,000 2,000
10 AtZI =X 2= 15,000 0 15,000
NAMISXSAA MU S 12,000, 000& 12,000
NXAAMSSXNE AN 24l 3,000,000 3,000
NSAZ MBI AE XA 480,070 480,070 0
= 384,056
& 48,007
= 48,007
307 212+0l & 480,070 480,070 0
= 384,056
& 48,007
= 48,007
05 QIZtRE 2 480,070 480,070 0
DX AS MBI AEXALS 480,070,000 480,070
= 384,056
& 48,007
= 48,007
ol - 2EEAE K& 54,000 48,000 6,000
307 212+0l & 54,000 48,000 6,000
10 At =X EX 54,000 0 54,000
e X MulA 24| 54,000,000& 54,000
SXNHt =2H3 100,000 0 100,000
306 =3 100,000 0 100,000
01 &9 3 100,000 0 100,000
D) EALE SXIMS &2 100,000,000 100,000
2UAZLRRE AU 23,360 23,360 0
301 LB A= 23,360 23,360 0
09 SAUA2RRIELZ 23,360 23,360 0
NSAZLRE A 23,360,000& 23,360
QI MorA X & 52,241 55,404 A 3,163
= 26,121
& 13,060
= 13,060
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52,241,000& 52,241
= 26,121
T 13,060
- 13,060
Arell 22| AF X2 10,260 0 10,260
= 5,130
= 1,539
= 3,591
201 B2 IH| 4,104 0 4,104
= 2,052
& 616
= 1,436
01 At 2teltl 4,104 0 4,104
1) AFI 2 2IAY 23| 4,104,000 4,104
= 2,052
o= 616
- 1,436
307 2120l & 6,156 0 6,156
= 3,078
== 923
- 2,155
10 MBS XIEX 6,156 0 6,156
1)Akel 22| AbH| 6,156,000& 6,156
= 3,078
& 923
o 2,155
MArs AQAHE KA 830,663 878,892 N48,229
= 158, 154
= 19,769
o 652,740
HAS Hele 012 |2 120,700 90,700 30,000
301 2 AZ 120,700 90,700 30,000
01 MBI BE A2 120,700 90,700 30,000
NEYE e 02 |2 30,000& 1,000 30,000
NESSE o242 0T A2
30,000& =1,000 30,000
NE, FHYE AMISXANE A2
500, 000& *10JH A= %23 10,000
NE =898 J2Y A2
50,000& *375JH 2~ *13] 18,750
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P $|9\*34|§ sX &
SR HAas AQHS A EEEEE]
_ _ poNE R
2AH -3 - SH2A(SH) - MEAMY - BHES Ol & oK lOﬁ/l\_Fgﬁ Hns
N2IEZSXNA SAIEAHNES K&
502 200,000 =3 & 30,000
N=20IMHe |2 500,000 *33] 1,500
el Ao I 30,000& *15H 450
PAD AFLX HHH X2 7,800 3,000 4,800
201 8- H| 7,800 3,000 4,800
01 At22t2(dl 7,800 3,000 4,800
12D AFLX HMP X2 1,300,000%6+ 7,800
2SS X XS AL 115,192 115,192 0
= 92,154
= 11,519
= 11,519
307 Q1201 & 115,192 0 115,192
= 92,154
< 11,519
= 11,519
10 Al SXIE X 115,192 0 115,192
12 SEX XS A 115,192,000& 115,192
= 92,154
= 11,519
= 11,519
AP EH 2 E R 0IAHS 82,500 90,342 N7 ,842
= 66,000
= 8,250
= 8,250
307 212101 & 82,500 90,342 AT ,842
= 66,000
= 8,250
= 8,250
05 DIt E2 82,500 90,342 AT ,842
NIIAZIEHE 2 20| AL 82,500,000& 82,500
= 66,000
= 8,250
= 8,250
HASEE XA 426,123 510,000 N83,877
301 et AZ 426,123 510,000 N83,877
01 AI 23 & +612 426,123 510,000 83,877
NHAS oAU =0AHLEEHE XS
5,000,000& «12& 60,000
NEEF0 MEE(H) X 346,123,000 346,123
NHASFOXE 2230 K& 20,000,000 20,000
SXIE g2 =& 47,390 32,820 14,570
201 B2 H| 34,790 18,120 16,670
01 AtR2tel bl 28,290 17,620 10,670
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N2 L AREE 2| 3,400,000& 3,400
2)EE9 ¢ 49 M 60,000 15JH 2 900
DNESTANY S 222 HE
5,000+3& 3005 4,500
2 MBS A FIE
7,000 x250F *23] 3,500
220124 KHAISI =X AIBHEA K
20,0002 %2005 4,000
nedgsg 7,230
NN EEE N EEERCEE- YRS
70,000+ 153 *43| 4,200
DINBISTTRY oiatel ALY
1,000, 000%13l 1,000
2IEMBRIING &0 HHLY
70,000+8Z 13| 560
2)BEOIAMLSIAS 80| BALY
70,000%7H*33] 1,470
DEEL] 4,760
2)=XIIE 22 7 KA
7,000%4H =170 4,760
02 S==2gHl 6,500 500 6,000
)BZ23Y HAl 6,500
2) JZMBAIT UAME EX
250x200= «12& 600
2) |XJIE g *Ee3z 500,000 500
2NEIST HSTR MHEEE
12,5003 36 x 122 5,400
202 01 bl 12,600 14,700 A2,100
01 =2 LHA bl 12,600 14,700 A2,100
NRODIZSSIX SHAUAT 454
70,0003 *30 6,300
NS9 MolRS&ED SEXEZE  70,000+2H x5 700
DIIZMBLHT AN DS L 3]0 FA
70,000+4 4«20 5,600
SE XM g2 = 30,958 36,838 A5,880
201 Et2Ed| 11,638 11,638 0
01 AtR2teld 10,738 10,738 0
1) et=2H| 4,368
2)RUCIDT ZAE LE2E A
80800+ 123 768
DINEISTAMEIA U 30 HB(HT) AFA
e 4,500+8002 3,600
132l 6,370
2)SE AR A2 OHAYI 7,000%4H 130 3,640
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N=H=0 A& 1,127,791,000& 1,127,791

902,233

112,779

112,779

MW

H W

JI=ME8E g0 & 170,336 212,951 A42,615
136,270
17,033
17,033

H W

307 212+01 ™ 170,336 0 170,336
136,270
17,033
17,033

H MW

s|I=EXIEX 170,336 0 170,336
Nes=s0 X 170,336,000 170,336
136,270

17,033
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3,500

_8_




SH FUMBXAY
M3 RO FMBRE
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SN-EHH . SH(BH) - HPAY - BE2 Ofl Ak 04 Gl o B2
= 2,800
= 350
2 350
206 T2 bl 21,120 0 21,120
= 16,983
= 2,066
2 2,066
01 T2l 21,120 0 21,120
HRE22AL 21, 120,0002 21,120
= 16,988
= 2,066
2 2,066
307 21201 & 905, 166 996,848 ~91,682
= 728,064
= 88,551
2 88,551
05 QI3 905, 166 996,848 ~91,682
DRE2RAL-9IE 905, 166,000 905, 166
=2 728,064
= 88,551
2 88,551
NEPS=E=i] 29,870 8,813 21,057
=2 23,896
= 2,987
2 2,987
301 YBHE A 29,870 8,813 21,057
= 23,896
= 2,987
2 2,987
12 DBt A2 29,870 8,813 21,057
DIEASTH(HEZAS) 29,870,0002 29,870
= 23,896
= 2,987
2 2,987
SIS SR 83,370 49,000 34,370
= 66,696
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2 8,337
301 BB AE 83,370 49,000 34,370
= 66,696
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2 8,337
12 JIEH &2 83,370 49,000 34,370
DEREIEEES 83,370,0002 83,370
= 66,696
= 8,337
2 8,337
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34,490
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140,202
34,490
7,500
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140,202
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140,202
140,202

34,490
7,500
98,212

140,202
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256,314
128,157
38,383
89,774

405,170
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101 el A Hl
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235,511

AB1,723
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= 489
01 AtR eIt 1,396 2,700 A1,304
DXADEM LMY ELS HH
1,396,0002 1,396
= 698
= 209
2 489
202 01t 1,680 2,100 A420
=2 840
= 252
2 588
01 2LHOI bl 1,680 2,100 420
DXABEMLT AL E &
70,0008 %23 *122 1,680
= 840
= 252
2 588
206 TH 2 99,450 0 99,450
= 49,725
< 14,892
2 34,833
01 T2 bl 99,450 0 99,450
1) XIS BSH U2l AL 99,450, 0002 99,450
= 49,725
= 14,892
2 34,833
208 92 =3 19,560 23,040 £3,480
201 L2 | 8,360 11,840 ~3,480
01 ALR eIt 7,860 10,860 ~3,000
DEIEE=Ye] 4,500
MEAY U BBI2ANY 222 HE
5,000%4 *Q0%? 1,800
2)BBIRAMY L KIAASIMEIAAY &4
o XX 60,000+ 1571 2 +33] 2,700
DEET] 3,360
2)XEDE =T A 7,000%4Y 1202 3,360
02 ZZ2H| 500 980 A480
2222 2 HAl 500
)RR 500,000 500
202 01 H 1,200 11,200 0
01 2UH Ol bl 11,200 11,200 0
1)K AFS MBI A S XEA & X &0l
70,0003 * 10 2,100
)2I22AY BX=Ql 70,0003 %10 2,100
1)XHEHANR & X &0l 70,000+284 x202 2,800
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chel: AIHE 22 (el &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRs2
nNexelds = 24 70,000%3F «20 4,200
HESS YOS UHSIIALY 550,000 200,000 350,000
401 Al & HI L 2 THH| 550,000 200,000 350,000
01 A& HI 546,535 200,000 346,535
NYE S Y0SHSIIAMY 546,535,000 546,535
03 Al& 2 THEI 3,465 0 3,465
NYZ3L0ISHSIIAMY 3,465,000& 3,465
GlBIAtZI R DS LRl &S 86,111 0 86,111
= 68,688
= 3,445
= 13,778
307 21Ztol 86,111 0 86,111
= 68,888
& 3,445
i 13,778
02 DIAFARE 86, 111 0 86, 111
1)0ILIALEI DI L Rt2l & E ALY
86,111,000& 86,111
= 68,688
= 3,445
= 13,778
SIS 20,000 0 20,000
2 10,000
= 3,000
= 7,000
307 2IZtol 20,000 0 20,000
= 10,000
& 3,000
= 7,000
02 Sl2tF a8 = 20,000 0 20,000
OIS S XA 20,000,000& 20,000
= 10,000
= 3,000
i 7,000
CllBIASI E DI AP ORI & A 26,543 0 26,543
= 21,233
& 2,655
i 2,655
307 21zZtol 26,543 0 26,543
= 21,233
= 2,655
= 2,655
02 gzt atE=x 26,543 0 26,543
1) 0l HIAFSI =012 AFRIHEHI X &AL
26,543,000& 26,543
= 21,233
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ZOIME T 2 A
Ha: D8=F Y o
ol AQITHE e (e @8
_ _ _ Muo
SA-EHB . CA(ENH) - HEAY - BE2 Of) &b o il i~ o HRs2
< 2,655
2 2,655
AN E 135,740 106,953 28,787
= 18,486
= 5,300
2 111,954
RASAES BN 135,740 106,953 28,787
=2 18,486
= 5,300
2 111,954
RS AR AR 8 Or bl 1,936 3,542 A 1,606
= 968
2 968
307 0I2+0| & 1,936 3,542 A 1,606
=2 968
2 968
06 283 1,936 3,542 A 1,606
DIASAR B2 X 1,936,0002 1,936
= 968
2 968
RASAMESY B3 XY 5,200 10,000 ~4,800
= 2,600
2 2,600
307 01240/ & 5,200 0 5,200
= 2,600
2 2,600
10 AtSI =X 2 X 5,200 0 5,200
DIESAME2Y 2485 XY 5,200,000 5,200
= 2,600
2 2,600
Zow3 29yl X2 2,000 5,000 A3,000
= 1,000
2 1,000
307 0I2+0| & 2,000 5,000 ~3,000
= 1,000
2 1,000
WPNEEINEES 2,000 0 2,000
NECwISYY X 2,000,00024 2,000
= 1,000
2 1,000
RAZA ROUO0IE S0 XIS 35,036 34,011 1,025
= 17,518
2 17,518
307 212H0| & 35,036 0 35,036
= 17,518
2 17,518




S FOMBIAA
Mo GEASARS
©“e: NS AES &N (&2 &
BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
10 Al SXIE X 35,036 0 35,036
DXHRIZ A 2CIUI0IE X8 35,036,0002 35,036
= 17,518
iy 17,518
A2SAMEAHSIGH & T2 0329 K& 53,228 12,920 40,308
307 212t01 M 53,228 0 53,228
10 At SXIE X 53,228 0 53,228
NAASAUE L TASAIRCIY DG S Al
45,0003 *3009 13,500
NZCUOIEH T2 240 U2 54|
50,000& x2H %303 3,000
NACUOIE D] 2 938 &4
50,000& x2H %103 1,000
DASAZS SAH 7,008 148 &+36% 3,528
RS ALK 3]0 & A 50,0002 *50% *33] 7,500
NEXNANASAIZI 22 8,000,000 8,000
NHEAE 2 NFSAZ2IBNY L 29
A& 16,200,000& 16,200
NEZXEAMMES RO 2 23]
500,000 500
JsERSY HASAEHK 3,400 3,600 A200
= 1,700
iy 1,700
307 @12+01 & 3,400 3,600 A 200
& 1,700
o 1,700
10 AHBISXIEZ 3,400 0 3,400
NVsgEasde INEMES X
3,400,000 3,400
= 1,700
o 1,700
AMEIAGEH S FX 34,940 37,880 A2,940
201 Yt | 23,180 28,220 A5,040
01 AtR2tel bl 21,980 19,020 2,960
1) et gH| 14,400
2)XNJSEAMN DI L EEE M
10,000% 1505 1,500
)N SAAIEH & I M 12,000%50% 600
MTR W VBN BRS M
10,000+ 1502 1,500
2)RDI07 Atcll2elol =g A M &
12,000%502 600
)N RS A S50 M 500,000 500
2Q)INIEMNESA 22 224 3,500,000 3,500
QINASANESE 2| 25,000%180& 4,500
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SH FUMBXAY
M N2SMES
Rl ANAESAES &K (et =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
2)0I2SI183 23 8+ ME
60, 000% 1571 2~ 900
2)912 AEIA M 200%1,000& *43] 800
1)=&t 3,780
2)MHIA HH 2R FX S|
38180 +7,000 3,780
nedgsg 3,800
Q)X SAMu 2 ALY 100,000% 103! 1,000
)Ml Zel e FASE 70,0005 43 1,400
DMEBIIY ASNY MY Hofslo &
MG 70,000%10%23] 1,400
02 2324l 1,200 9,200 8,000
nNa3ge=2 2 HMAl 1,200
2)RERZ ¢ BHH 323
100,000 12& 1,200
202 44| 11,760 9,660 2,100
01 =2 WA bl 11,760 9,660 2,100
1At 22| CHAXE 8 X 2& 70,0002 153 2,100
NASEXNAUET SEIZA 70,000%2H *153] 2,100
NhsAEsS N=EH 70,000%2H *303] 4,200
NHEZ UM 35 24 70,000%2H 43| 560
NDXHIASAI U & /38 &4
70,0002 +53] 700
NHAS 2 0l &2 70,000+3ZF «10& 2,100
BHSYJH (FLMS XA ) 14,740 18,140 3,400
Jl=&Hl 14,740 18,140 A3,400
Jl=&Hl 14,740 18, 140 23,400
201 get2dd| 5,780 9,180 3,400
01 A2 2 2ldl 5,780 9,180 23,400
1) et 3,400
2)A28F 74l 200,000& 17 3,400
1)=& 2,380
2)RN2E S 7,000 «17H*202 2,380
202 (44| 4,760 4,760 0
01 =2 A bl 4,760 4,760 0
NN 2AHA2Y o
70,000 x17H x4 4,760
203 H =&l 4,200 4,200 0
04 RFAN2EHRFEH 4,200 4,200 0
NFMEXAN FA2Y 350,000 «12& 4,200
NRgs(FMaxa) 771,493 874,739 A~ 103,246
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SN EOIMBXHA
)\

X{ ZH -
o= -

&R WRHHXS (&9 HM
_ = P e

SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
WS Fel DNE=S 771,493 874,739 A103,246
LHEHH K Z 771,493 874,739 A 103,246
701 JIEtSl A &3 771,493 874,739 A 103,246
01 JIEte HE &2 771,493 874,739 103,246

NAZSESAY SE3H &3

771,493,000& 771,493
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